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53  = a =
n %

IL 9

e xc2 = lC.00

vc = sc2=  xc2__  =  10 .00
n 4

ED = CXD =
n

= 3

= 10.00

VD = SD2= XD2 = 10.00
t-l 4

E 2.30 F 2.50

‘8 XG X X2

3

3 6 -3 9
(T5

= xc - x,>

TiG = &G$L = g+z = 6
2

vg = sg*  = (x - siGj2 = 18  = 9
-zn

VT - g  +  r.50

= 1 1 . 5 0



VB = 9 = 3.60
VW 2.50
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9.

b.

m.

G’.

c.

b.

d.

d.

h.

l!t:2?6,&  (Proactive history)

~4$L+&lQl:vj?n~f&-j~q  (Retroactive history)
I I

+h?~BBPnquih8u7d  ( M a t u r a t i o n )

mrnnnawwa~~  (Statistical regression)
/

n7fBalLauT:fl?14n7f~nY?  (Experimental mortality)
,

oaaa~niftljG&i (Interaction effects)
I I"

IRkGiJY!  (Instrumentation)
Y

8fln'TlD4{i<~ (Experimenter bias)
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9. Hawthorne effect
I

b. n~tmamnm  (Pretesting)

Hawthorne effect








